
SAP ABAP table AFRD {Default values for collective confirmation}

AFRD

MANDT [CLNT (3)]

AUTYP [NUMC (2)]

UNAME [CHAR (12)]

WERKS [CHAR (4)]

ZEIER [UNIT (3)]

ILE01 [UNIT (3)]

ILE02 [UNIT (3)]

ILE03 [UNIT (3)]

ILE04 [UNIT (3)]

ILE05 [UNIT (3)]

ILE06 [UNIT (3)]

ISMNE [UNIT (3)]

LEARR [CHAR (6)]

IDAUE [UNIT (3)]

QUALF [CHAR (2)]

LOGRP [CHAR (3)]

GMEIN [UNIT (3)]

MEINH [UNIT (3)]

GRUND [CHAR (4)]

AUFNR [CHAR (12)]

OFE01 [UNIT (3)]

OFE02 [UNIT (3)]

OFE03 [UNIT (3)]

OFE04 [UNIT (3)]

OFE05 [UNIT (3)]

OFE06 [UNIT (3)]

OFMNE [UNIT (3)]

ODAUE [UNIT (3)]

KAPAR [CHAR (3)]

BEMOT [CHAR (2)]

ISMNU [UNIT (3)]

OFMNU [UNIT (3)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 AFRD-AUFNR = AUFK-AUFNR 
1

1

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

 AFRD-LEARR = CSLA-LSTAR 
0..N

0..N

T000

MANDT [CLNT (3)]

 AFRD-MANDT = T000-MANDT 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 AFRD-WERKS = T001W-WERKS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 AFRD-GMEIN = T006-MSEHI 

0..N

1

 AFRD-IDAUE = T006-MSEHI 

0..N

0..N  AFRD-ILE01 = T006-MSEHI 

0..N

0..N
 AFRD-ILE02 = T006-MSEHI 

0..N

0..N  AFRD-ILE03 = T006-MSEHI 

0..N

0..N  AFRD-ILE04 = T006-MSEHI 

0..N

0..N  AFRD-ILE05 = T006-MSEHI 

0..N

0..N  AFRD-ILE06 = T006-MSEHI 

0..N

0..N  AFRD-ISMNE = T006-MSEHI 

0..N0..N
 AFRD-ISMNU = T006-MSEHI 

0..N0..N  AFRD-MEINH = T006-MSEHI 
0..N

0..N  AFRD-ODAUE = T006-MSEHI 0..N
0..N

 AFRD-OFE01 = T006-MSEHI 
0..N

0..N

 AFRD-OFE02 = T006-MSEHI 

0..N

0..N

 AFRD-OFE03 = T006-MSEHI 

0..N

0..N

 AFRD-OFE04 = T006-MSEHI 

0..N

0..N

 AFRD-OFE05 = T006-MSEHI 

0..N

0..N

 AFRD-OFE06 = T006-MSEHI 

0..N

0..N

 AFRD-OFMNE = T006-MSEHI 

0..N

0..N

 AFRD-OFMNU = T006-MSEHI 

0..N

0..N

 AFRD-ZEIER = T006-MSEHI 

0..N

0..N T421

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LOGRP [CHAR (3)]
 AFRD-LOGRP = T421-LOGRP 0..N

1

T423

MANDT [CLNT (3)]

WERKS [CHAR (4)]

QUALF [CHAR (2)]

 AFRD-QUALF = T423-QUALF 

0..N

1

TBMOT

MANDT [CLNT (3)]

BEMOT [CHAR (2)]

 AFRD-BEMOT = TBMOT-BEMOT 

0..N

0..N

TC26

MANDT [CLNT (3)]

KAPAR [CHAR (3)]

 AFRD-KAPAR = TC26-KAPAR 

0..N

0..N

TRUG

MANDT [CLNT (3)]

WERKS [CHAR (4)]

GRUND [CHAR (4)]

 AFRD-GRUND = TRUG-GRUND 

0..N

1


